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Identifying Y Intercept (Tables) Name:
Identify the Y intercept for each table. Answers
D[ x|y 2 [ x| v 1 x| v
1.
-10 | -16 6 | -30 -10 | -240
7 | -13 -4 | -20 -7 | -168 ,
5 | -11 3| 15 4 | -9 '
1| -5 6 | 30 3| -72
10 | 4 7 | 35 3 | 72 3
4.
5.
Y 1x]|y 9 | x| v 6) [ x | v
6.
5| 10 -10 | -40 -10 | -45
3| 6 3| -12 9 | -41 ,
2| 4 2 | 8 8 | -37 '
5 | -10 7 | 28 7 | -33
9 | -18 8 | 32 3 | 17 8
9.
10.
Nlx]|y 8 | x| v 9 [ x| v
11.
-9 | -60 3| -8 8| -15
-4 | -25 100 7| -14 o
1| 10 2 | 12 5| -12 '
5 | 38 8 | 36 3| -10
10 | 73 9 | 40 4 | -3
10 [x [y 1) [x [ v 12 [x [ v
5| 2 210 | -2 -10 | -55
4| 3 8]0 5 | -30
1| 6 7 11 -3 | -20
8 | 15 5 | 3 -1 | -10
10 | 17 10 | 18 4 | 15
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Identifying Y Intercept (Tables) Name: Answer Key
Identify the Y intercept for each table. Answers
D1 x| vy 2 I x| vy A x| v 6
1. B
-10 | -16 -6 | -30 -10 | -240
7 | -13 -4 | -20 -7 | -168 , 0
5 | -11 3| 15 -4 -96 '
1| -5 6 | 30 3| -72 0
3
10 | 4 71 35 3| 72
Y=X-6 Y =4xX-(X x-1) Y=3xXx8
4 0
5 0
Y x| v 1 x| v | x| v 5
5 i
-5 | 10 -10 | -40 -10 | -45
-3 6 -3 | -12 9 | 41 3
7
21 4 2 | 8 -8 | -37
5 | -10 7 | 28 -7 | -33 4
8
9 | -18 8 32 -3 | -17
Y =5xX-(Xx7) Y=Xx4 Y =5xX-(X+5) v
° i
10. 7
Nlx| vy 8 [ x|y 9 | x| v
11. 8
-9 | -60 3| -8 -8 | -15
-4 | -25 -1 0 7| -14 5
12. -
1| 10 2 | 12 5| -12
5 38 8 | 36 -3 | -10
10 | 73 9 | 40 4| -3
Y =6xX+(X+3) Y =5xX-(X-4) Y =X+(7x-1)
100 [ x | v m{x |y ) [ x [ v
5| 2 -10 | -2 -10 | -55
-4 | 3 8|0 -5 | -30
-1 6 -7 1 -3 | -20
8 | 15 5 | 3 -1 | -10
10 | 17 10 | 18 4 | 15
Y=X+7 Y =X-(8%-1) Y=5xX-5
1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Identifying Y Intercept (Tables) Name:

Identify the Y intercept for each table. Answers
0 -7 -5 0
-6 0 3 4 1.
0
2.
D x| vy x| v 3| x Y
-10 | -16 -6 | -30 -10 | -240 3,
-7 | -13 -4 | -20 -7 | -168
5 | -11 3 15 -4 -96 4
1 -5 6 | 30 -3 | -72
10 4 7| 35 3 72 5,
Y=X-6 Y =4xX-(Xx-1) Y =3xXx8
6.
7.
8.
4 [ x| v S x| vy ) x| v
-51 10 -10 | -40 -10 | -45 0.
-3 6 -3 | -12 9 | -4
-2 4 2 8 -8 | -37
51 -10 7 28 -7 | -33
9 | -18 8 32 -3 | -17
Y =5xX-(Xx7) Y=Xx4 Y =5xX-(X+5)
Nlx]|y 8 [ x|vY 9 | x| v
-9 | -60 -3 | -8 -8 | -15
-4 | -25 1] 0 7| -14
1 10 2 |12 5] -12
5 38 8 | 36 -3 | -10
10 | 73 9 | 40 4 -3
Y =6xX +(X+3) Y =5xX-(X-4) Y =X+(7x-1)
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